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AN SEXHEES
A AHZYRAZH(H=AIE G 2) (OIEH/IIE
s Jl=2ghl EER=E)

A BE - HA(BIAH) - ARANY - BES Off &4 I8N Hws2
SR 20,179, 104 20, 115,442 63,662
2 3,502,400 3,592,400 0
2 6,256,000 6,256,000 0
s 3,728 0 3,728
= 1,837,720 1,837,720 0
x 22,000 22,000 0
2 8,467,256 8,407,322 59,934
2 YA (MAASYR) OIEHIIED 54,830 57,68 22,852
IR 54,830 57,682 12,852
Jl= 2| 54,830 57,682 12,852
201 2er2e| 24,550 25,810 A1,260
01 AfR 22l 23,380 24,610 A1,230
OMRR2IH HlaEE ~1,230,000%! A1,280 0 A1,280
2 BTS2 1,170 1,200 A30
OBZ2H HlazE ~30,000% A0 0 A0
202 Oft 27,430 28,872 A1,442
ETETT 27,430 28,872 A1,442
OZLHoIHI OlArR2E ~1,442,0002 AT,442 0 A1,482
208 YL FTH| 2,850 3,000 2150
VP EEES S 2,850 3,000 A150

SNSYADET| HAEYE
~150,000! A150 0 A150
e SA(UBIBTHT /L) 1,019,614 1,021,889 £2,275
S 22,000 22,000 0
2 97,614 999,889 £2,275
HeAA 22 L 5T 557,455 559,300 A1,845
HAARS 22 Y £ 312,055 313,300 A1,245
201 2er2ei| 309,680 310,800 A1,120
01 Al 22l 29,680 30,800 AT,120
OMRRI2IH OlaEE ~1,120,000%! A1,120 0 A1,120
202 it 1,900 2,000 2100
ETET 1,900 2,000 A100
O=LH0oiHI e EAE ~100, 0002 A100 0 A100
208 YL =Y 475 500 A25
NEEEEES 475 500 N25
ONBETALRET| HUELE

25,0002 A2 0 A2
DIeH DS AMEe & 245,400 246,000 2600
201 2er2e| 21,400 22,000 2600
01 AfR 22l 21,400 22,000 2600
OMRR2IH laEE ~600,0002! 2600 0 600
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£ 3,728 0 3,728
= 98,804 101,612 12,808
S2AE 102,532 101,612 920
S 3,728 0 3,728
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201 L= 2,9% 3,152 A157
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= 3,728 0 3,728
i 21,272 20,000 1,272
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03 A2 Y] 9,500 10,000 A500
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O=U0dl arEZ = -225,000& A225 0 A225
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